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Chapter 11 
 
Exercise Solutions 
 
E11.1 
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E11.2 
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E11.3 

    φ fp
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          = − + +( )3 20 3 25 0 555 0 376. . . .  
or 
              φ ms V= −0 981.  

 
E11.4 
    φ fp V= 0 376.  

    φ ms = − + ⇒( )0 555 0 376. .   φ ms V= −0 931.  

 
 

 
E11.5 
    φ fp V= 0 376.  

    φ ms = − ⇒( )0 555 0 376. .   φ ms V= +0 179.  

 
E11.6 
From E11.3, φ ms V= −0 981.  
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or 
              V VFB = −1 06.  

 
E11.7 
From E11.4, φ ms V= −0 931.  
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E11.8 
From E11.5, φ ms V= +0 179.  
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E11.9 
From E11.3, φ ms = −0 981. V and φ fp V= 0 376.  
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    ′ =( ) −Q x C cmSD max . /8 64 10 8 2  
 
From Equation [11.27b] 
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  V x xTN = −− −8 64 10 10 16 108 11 19. .b gb g  
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E11.10 
From Figure 11.15,  φ ms V= +0 97.  
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Then 
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or 
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Now, from Equation [11.28] 
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E11.11 
By trial and error, let N x cmd = −4 1016 3 , then 
    φ fn = 0 383. , φ ms ≅ 1 07. , 

    ′ =( ) −Q xSD max 1 10 7   and 
    V VTP = −0 405.   which is between the limits 

specified. 
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E11.13 
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    C x F cmox = −1 73 10 7 2. /  
Now 
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    I x VD GS= −−2.81 10 0 43 2b ga f.  
Then 
         V V I mAGS D= ⇒ =1 1 01.  

         V V I mAGS D= ⇒ =2 7.19  

         V V I mAGS D= ⇒ =3 19  
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E11.14 
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E11.15 
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Then 
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E11.17 
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or 
              ∆V V= 0 156.  
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E11.18 
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(i)   

    ∆V = + −( ) ( ) ( )0 105 2 0 288 1 2 0 288. . .  

or 
              ∆V V= 0 052.  
(ii) 

    ∆V = + −( ) ( ) ( )0 105 2 0 288 2 2 0 288. . .  

or 
              ∆V V= 0 0888.  

 
E11.19 
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              g mA Vm = 2.91 /  
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